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Continuous Random 
Variables

MHR Page 327 #s 1 ­ 5 & 7

Definitions
Attribute
• A quality or characteristic given to a person, group, or 
object

Frequency Histogram
• A graph with intervals on the horizontal axis and 
frequencies on the vertical axis

Frequency Polygon
• A segmented line that joins the midpoints of the top of 
each column in the frequency histogram

Investigate on Page 320
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a) This will be a uniform distribution since all of the times (outcomes) are 
equally likely.

b) Horizontal axis must include 0.5 to 
3 minutes. Because the area of the 
graph must equal 1 (represents all 
probabilities), the y­axis (probability 
density) will go up to 1 ÷ 2.5 = 0.4  Pr
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Time (minutes)

c) The probability that a customer will eat a donut in 1 to 3 minutes is 
equal to area under the graph for the region. 

P(1 < x < 3) = area under graph

 = 0.4(3.0 ­ 1.0)

 = 0.8
The probability of a donut being 
eaten in 1 to 3 minutes is 0.8

d) Since time is a continuous variable, there is an infinite number of 
values that could exist from 0.5 to 3 minutes.

e) If choosing a single value, such as 1 minute, the area would equal 
zero since the width of the rectangle is zero. The area method cannot 
be used to find the probability of an individual value for a continuous 
variable, only for a range.
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First find the height of the rectangle (value of the probability density)

= 1 ÷ (12.0 ­ 8.0)

= 0.25

b) P(9 < x < 11.5) = area under graph

 = 0.25(11.5 ­ 9.0)

 = 0.625

a) P(8 < x < 9) = area under graph

 = 0.25(9.0 ­ 8.0)

 = 0.25

The probability of a tire being 
changed in under 9 minutes is 
0.25

The probability of a tire being 
changed between 9 and 11.5 
minutes 0.625

c) The area method cannot be used to find the probability of an 
individual value for a continuous variable, only for a range. Therefore 
the probability of Chris changing a tire in exactly 10 minutes is zero.

a) Analysing microdata is difficult for continuous data. This is a reason 
why it is often grouped and then analysed. In its current form it is difficult 
to see if the distribution is uniform or not. Likewise, it is difficult to make 
an estimate for the mean, aside from totaling all the values.

c) As the frequencies are different we can say that the distribution is not 
uniform. An estimate for the mean value would be about 150. You would 
find the answer to Ʃmixi ÷ n
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d) The frequency table groups this raw data into class intervals. The 
frequency of each interval makes the distribution more obvious and 
gives an indication of the location of the central measures of tendency.

e)

f) The frequency polygon with give an indication of the shape of the 
probability distribution. The area under it will not equal one though. You 
cannot calculate probabilities from a frequency polygon, you need to use  
a probability distribution.

A frequency polygon is 
created by joining the 
midpoints of each bar 
together with a straight line.
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The number of guests that occupy the hotel each day is discrete data, 
while the time a guest waits for an elevator is continuous data. It is 
possible to list all values of the discrete distribution, since these 
values from 0 up to the maximum capacity of the hotel. It is not 
possible to list all values of the continuous distribution, since time can 
be recorded in fractions of a second.

The various height measurements could be caused by several things. 
For example, Maya standing differently each time, bad measuring 
technique, and misreading the measuring device. This is most likely a 
measurement error, not bias.

The probability that a variable falls within a range of values is equal to 
the area under the probability density graph for all that range of 
values. The area method cannot be used for single values of a 
continuous variable, only for a range of values. A continuous random 
variable can take on an infinite number of values. The probability that 
it will equal a specific value is always zero.
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